Seat No. Enrolment No.:

Gujarat Technological University
Diploma Engineering C to D Bridge Course Examination 2016

Subject Code: C320903 Date:03/06/2016
Subject Name: D.C.CIRCUITS
Time: 10.30 AM TO 12:00 PM Total Marks: 70

Instructions:

1.

g~ W

No.

Attempt all questions.

Make suitable assumption wherever necessary.

Each question is of 1 mark.

Use of SIMPLE CALCULATOR is permissible. (Scientific/Higher Version not allowed)

English version is authentic.

Question Text and Option. Yt el (Asc.
Charge of electron is

A. 1602 X 10%¥ B. 1.602 X 1010

C. 1.602 X10?%° D. 1.602X10%
sAs2el oll U el 8.

A. 1602 X 10%¥ B. 1.602 X 1010

C. 1.602 X10?%° D. 1.602X10%
Mass of electron is

A.  9.108 X103! kg B. 9.108 X10*! ton
C. 9.108 X103 gm D. 9.108 X103 mg
8As2lold] e 3G B.

A.  9.108 X103 kg B. 9.108 X103 ton
C. 9.108 X103 gm D. 9.108 X10* mg
When there are less than electrons in the outermost orbit of atom, these electrons
are called the free electrons.

A 7 B. 8

C. 6 D. 4

¥ WeH oll Dectl Aole Hi l AL BAS2 A Sl B =AUR Aal 4l
Aol sdcllA B,

A 7 B. 8

C. 6 D. 4

Current | is equal to

A. t/Q ampere B. txQampere

C. Qxtampere D. Q/tampere

802 | =

A. t/Q ampere B. txQampere

C. Qxtampere D. Q/tampere

Full form of e.m.f. is

A. Electron motion force B. Electrical machine force
C. Electro motive force D. Electron mass force
em.f. o] Y3 ol g O,

A. Electron motion force B. Electrical machine force
C. Electro motive force D. Electron mass force

Work required to be done to move unit positive charge from one point to another in the
circuit is called
A. Current B. Power
C. Voltage D. Power factor
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10.

0.

11.

Q.

12.

.

13.

3.

Yz WBRA U A As W2 Al ollot WSo2 Yell S wal HIZ s:¢l
usdi stal 4 sdalA 9.

A 532 B yar

C axkw D e ¥se?

Property of a material to oppose the flow of electric current through it is called
A.  Friction B. emf

C. Power D. Resistance

HRRUA «ll s22 oll (AAU sRclloll AU A 9 sdaudu 8.

A. lsalot B. emf

C war D. YRt

Resistance R is equal to

A IV B. VxI

C. Vi D. IxV

RRRAUR =

A IV B. VxI

C. Vi D. IxV

lpQ=

A 10°Q B. 10°Q

C. 10°Q D. 10°Q

lpQ=

A 10%Q B. 10°Q

C. 10°Q D. 10°Q

Material which allow the current to flow easily through them are called
A.  Semi conductor B.  Dielectric material

C. Conductor D. Insulator

HRRuA ¥ Buill 522 A Ul UAR U A¥ Aol 9 sdaua B.
Al ssse? B sigsalys HRRua
C. gsseR D goyde?

Resistance of a conductor depends upon

A. Length of conductor B.  Temperature of conductor
C.  Cross section of conductor D. All of the above

§5522 oll AU Slotl GUR WUR AW B,

A §sseR oll dote GUR B §s522 oll 21QAR BUR
C. 55522 ofl Sl Asaet GUR D Guretl sty
Resistance of a conductor is directly proportional to

A.  Weight of conductor B.  Cross section of conductor
C. Conductivity of conductor D. Length of conductor
$5522 oll AR eU Slotl AXYHIRL ML B

A §552R ol Aot B §ss2R oll AsBE

C. §sser ofl ss(2(Q8 D §sse2 oll douss
Germanium is

A. Conductor B. Insulator

C.  Super conductor D.  Semi conductor
glan 9 B.

A gsseR B geyde?
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14.

.

15.

Q.

16.

6.

17.

9.

18.

c.

19.

e.

20.

R0.

C. yur $sse? D Qull $sse2

Paper is

A. Conductor B. Insulator

C.  Super conductor D.  Semi conductor
QUR 9 8.

A §sseR B, goqj@e2

C. yur ssse? D. Al 55522

Resistance of copper wire of length 100 m and diameter of 5 mm. (Specific resistance
of copper is 1.7x10® Qm.)

A. 866x10°Q B. 8.66x102Q

C. 7.66x102Q D. 866x102%2Q

SLUR cllAR ¥ Roll ot 100 m Al U™ 5 mm 8. dl Aol WAL L. (
SIUR oll [QLRkRe ylAAu 1.7x10®8 Qm )

A. 866x10°Q B. 8.66x102Q

C. 7.66x102Q D. 866x102Q
Conductance (G) =

A.  1/XL B. 1/L

C. 1R D. 1/C

555204 (G) =

A. 1/XL B. 1/L

C. 1R D. 1/C

Reciprocal of resistivity is known as

A. Resistance B.  Inductance

C.  Conductor D. Conductivity
RRRR(AZ oll AR A Aot &l BN M WA B.

A YRkres B.  ¢sseout

C. gsse? D. 4sz@4

For metal with increase in temperature resistance

A. Increases B.  Does not change
C. Decreases D. Remains constant
Ned Hl cluMlel dudl A

A g d B. aeatdl ool
Cwd D a8 B.
For insulator with increase in temperature resistance

A. Increases B.  Does not change
C. Decreases D. Remains constant
BoJA2R Hi cllUMlel dtdl A

A gl B B sectdl otell.
C. «d D wua 22 .
With constant temperature V/I =

A. Constant B.  Decreases

C. Increases D.  None of the above
AN AUHRA V/I =

A waAn R D B. w2 ®.

C. «@®. D Guz ot 1i ol As uul ol

3/11



21.

1.

22.

2R.

23.

R3.

24,

R¥.

25.

QY.

26.

RS.

27.

V.

Ohm’s law is applied to

A. Inductor B.  Capacitor
C. Resistance D. Semiconductor
AU oll [AAM Sl cld] ud B.

A Ssse? B. }Re:

C. JRkes D. Al 5522
Work / time =

A. Energy B. Power

C. Joule D. Volt

sl / AHA =

A Qe B.  yar

C. xa D. Qe
FXr=

A. Torque B. Work done
C. Power D. Energy
FXr=

A A B. gl

C. yar D. Qoo

When the length of a wire is increased to 4 times and its diameter is doubled, its
resistance

A.  Will not change B.  Will become doubles

C.  Will become four times D.  Will become half

AR cllAR ol dotteS ¥ 2Rl Wl clM HBN Sl HL AA B AR YRR A
A aecldl ol B. ouEl udl

C. ¥ oWl ud D. sl udl

When we Convert voltage source of 16 V and internal Resistance 2 € into current
source

A 1=2AmMp & R=8Q B. Is=8AMp&Rs=8Q

C. I=2AmMp&Rs=2Q D. Is=8AMp&Rs=2Q

Y UL 15 A2 WA Boeold YRR 2 Q oll Ay AR ol 522 AR

Hi uRaldd s3A @R

A. |s: 2 Amp & Rs: 8Q B. |s: 8 Amp & Rs: 8Q

C. I=2AMp&R=20Q D. I=8AMp&R=2Q

When we Convert Current source of 8 Amp and internal Resistance 2 € into Voltage
source

A. V=16Volt & R=2 Q B. V=2Volt& R=2Q

C. V5= 2 VOIt & Rs: 16 Q D. Vs= 16 VOIt & Rsz 16 Q

(¥ WUAL ¢ A[2AR Wl Bo2Rolcd 2ARARR 2 Q ol §22 W A ARy
A 1 uRaldd s R

A. V=16Volt & R=2 Q B. V=2Volt& R=2Q

C. V5= 2 VOIt & Rs: 16 Q D. Vs= 16 VOIt & Rsz 16 Q

When three resistance of 10 € are connected in series , their equivalent resistance is
A. 333Q B. 10Q

C. 3.0Q D. 30Q

%2R 10 Q ol ALl AR o AR Hi SscUHL MA AR Aoll UL
R 9 AU,
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28.

RC.

29.

30.

30.

31.

319.

32.

3R.

33.

33.

A 333Q B. 10Q

C. 30Q D. 30Q

Three resistors of 10 Q, 20 Q & 30 Q are connected in series across 120 Volt supply.
Power loss across 10 € resistor is

A, 10W B. 20W

C. 40W D. 30W

AR 10 Q, 20 Q Aal 30 Q oll AR R A AR Hi 120 dllce AU U

oglscll Hi AA Al 10 Q A Ml 32l ulaR Al Al B.

A 10W B. 20w

C. 40W D. 30w

Three resistors of 10 Q , 20 Q & 30 Q are connected in series across 120 Volt supply.
Power loss across 20 € resistor is

A. 80W B. 20w

C. 40W D. 10w

AR 10 Q, 20 Q Aal 30 Qoll AR R A AR Hi 120 dlce AU U
Alscll Hi A A 20 Q2R Hl 32l WaR Al WA B.

A. 80W B. 20w

C. 40W D. 10W

When two resistors R1 & R> are connected in parallel current through Ry is
A.  I(R/(R1+R2)) B. [I(R2/(R2*+R2))

C. I(RA(R1-R2)) D. I(R2(R:1+R2))

w2 A AR Ry U Ryl AHIAR ML Wlsall Hi A B U2 Ry Hi ol 32l

$22 UAIR AUl .

A.  I(R/(R1+R2)) B. I(R2(R2+R2))

C. I(R2/(R1-R2)) D. [I(R2/(R1*+R2))

24 V battery is connected across a series combination of three resistors of value 2 Q,
4Q & 6 Q. Voltage across 6 Q resistor is

A 6V B. 2V

C. 12v D. 4V

AU 2Q,4Q U 6Q ol AR AR A AR Hi 24 cllce Ulcl2A WA Alsal

H WA A 6 QAR oll WU Hl 32l AR &3\

A 6V B. 2V

C. 12v D. 4V

24 V battery is connected across a series combination of three resistors of value 2 Q,
4Q & 6 Q. Current through 2 Q resistor is

A. 2Amp B. 6Amp

C. 4Amp D. 12 Amp

wU 2Q,4 QA 6Qoll AR AR A AQ( Hi 24 dlee el WA %lsal

Hi A dl 2 Q2R 1l YUl 32Al s UAR AL

A, 2Amp B. 6Amp

C. 4Amp D. 12 Amp

When voltage more than the emf of a cell is needed, required numbers of cell have to
be connected in

A. Parallel B.  Series Parallel combination

C. Series D. Parallel Series combination

U AA oll emf 5cll AUR Ay ofl %32 dlal AR AS 5l dUR A A
5¢5 3l lsal Hi wa B.
A R B. R0l uHicR slellaatet Hi
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34.

3%.

35.

3.

36.

36.

37.

39.

38.

3¢C.

39.

3¢C.

C. 2l D auicz Al slellaatet i

When current required is more than the capacity of a cell, required numbers of cells
have to be connected in

A. Parallel B.  Series Parallel combination

C. Series D. Parallel Series combination

U2 AA ofl &HAl 5l dtllR $22 ol %32 8l _UR AS 5cl AUR AA o
5¢5 Il lsal i wa B.

A iR B. 2ol uHicz slellaatet Hi

C. Aall D. iz Al slellAgtet Hi

In parallel circuit value of the equivalent resistance is the least resistance of the
element

A. Lessthan B.  Greater than

C. Equalto D. Greater than or equal to

UHIAR U5 vl AU 2R ofl BHc A 2oL Ui AL ARReAU 5l
_ daw.

A0 8 B B au sad

C. quet A B. Do qu ¥ ulet da ®
The point at which two or more elements meet is called

A. Branch B. Mesh

C. Loop D. Node

As (Glg ¥ A As 5cdl cuR AlANeU Ao A Aal

A gled sdal B o sdaua

C. qu sda D. s sdata

Two lamps 40 W, 230 V and 60 W, 230 V are connected in parallel across 230 V D.C.
supply. Current taken from supply is

A. 435A B. 435A

C. 435A D. 435A

40 W, 230 V Aol 60 W, 230 V oll A QU ol AHIAR HI %13 8 Al Awla |l
Al st el s2e Q.

A. 435A B. 435A

C. 435A D. 435 A

Which is a active element

A. Resistor B.  Voltage source
C. Capacitor D. Inductor
LAl Hidll Alza AlANe s D.

A dRRe? B. Qo A
C. }ReR D. §sse?

An element in which the voltage current relationship is same for current flowing in
either direction is called

A. Unilateral element B. Linear element

C. Bilateral element D. Nonlinear element

AAH2 3 BHL AR ol 522 oll Ao, AR 522 oA (Bal 1l ad AR

AU 8l cl Aol 9 sdalal.
A yollderd AN B. QR A@e
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40.

¥0.

41.

¥9.

42,

¥R,

43.

¥3.

44,

Y.

45,

¥U.

46.

C.  wgaed AN D. Q@R AN

Silicon diode is a

A. Unilateral element B. Linear element

C. Bilateral element D. Nonlinear element
RAst silals 9 ®.

A yollAerd AN B. @Rz AlddNe

C. wged AlANe D Ad QR AN

A network in which electrical properties are not changed when the input and output
terminals are interchanged is called

A.  Asymmetrical network B. Bilateral network

C.  Symmetrical network D.  Unilateral network

Aead 3 BUl Sotye ua wBey2 2ot a g2y 531A Al Ul Asll
aatud of secla Al dal 9 séalll.

A QAR sc e B ouded Aead

C. dndlsc aeas D. yollAerd Aead

Three resistors of 15 Q are connected in delta. Each resistance of equivalent star
connection will be

A 10Q B. 40Q

C. 5Q D. 30Q

AQL 15 Q oll AR A el Ul B3A B. Al RAR sals2lot Ui €8 UM

AR oll Bud 9 aul.

A 10Q B. 40Q

C. 5Q D. 30Q

Three resistors each of 8 Q are connected in star. Each equivalent resistances for delta
connection are

A 24Q B. 12Q

C. 6Q D. 48Q

QL 8 Qoll AR A AR UL B3A B. Al 3cal sas2Uol Ul €35 UL
R ol (Bud 9 vl

A 24Q B. 12 Q

C. 6Q D. 48Q

Condition for maximum transfer of power from the source to the load is
A. Rs>RL B. Rs<RL

C. Rs=RL D. RL=0

A ol AS A% HeH WaR 2lodg sal HI2 ofl 2R 58 B.
A, Rs>RL B. Rs<RL

C. Rs=RL D. RL=0

Unit of charge is

A. Volt B. Watt

C. Ampere D. Coulomb

UL ol AsH 9 O.

A diee B. Qe

C. aufar D scw

When a charge of 1 coulomb flows per second through a conductor, the value of
current is

A.  6.242 X 10 Ampere B. 1ampere turn

C. 1ampere D. 1ampere hour
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¥S.

47.

¥9.

48.

¥C.

49,

¥C.

50.

uo.

51.

uAq.

52.

UR.

53.

us3.

AR s Aol UL As AsS MR alles Ml UR L, Al s22 ofl (Bud

secll gl

A.  6.242 X 10 Ampere B.

C. 1ampere D.

1 mC (milli coulomb) is equal to

A. 103C B.

C. 10°C D.

1 mC (milli coulomb) =

A. 103C B.

C. 10°C D.

Relative permittivity of air is

A. 8.854 X 1072 farad/metre B.

C. 8.854X 102 D.

scl ol RALRa U2l 3edl ®.

A. 8.854 X 1072 farad/metre B.

C. 8.854X 1012 D.

Permittivity of vacuum is

A. 8.854 X 107 farad/metre B.

C. 8.854 X 10?2 D.

gedtastal ofl uRHlE NS 3ecll B.

A. 8.854 X 10*? farad/metre B.

C. 8.854X 1012 D.

Which of the following is correct

A &=¢egx¢g B.

C. &=¢e/¢ D.

o(lAatl Uil 53 (Aot ALY B,

A e=¢gxeo B.

C. e&==e0/¢ D.

Two like charges

A. Attract each other B.

C. Repel each other

A UMl A1

A As ollost A s D B.

C. As ollat A AwsA D D.

Two alike charges

A.  Attract each other B.

C. Repel each other

O UMt U

A As oflen A s B B.

C. As oflogt A uusy B D.

The magnitude of force between two charges is

A. Inversely proportional to the B.
multiplication of the charge

C. Inversely proportional to the D.

A AU A ol U of URHEL 9 «Ud.

square of the multiplication of
the charge

1 ampere turn
1 ampere hour

108 C
10° C

103 C
10%C

1 farad/metre
1

1 farad/metre
1

1 farad/metre
1

1 farad/metre
1

e=¢c/¢go
& =€ XE

eg=¢c/¢o
& =E0XE

Neither A or B
All of above

Aulal B Hl A5 uwl otel
GUR ol ol

Neither A or B
All of above

Aulal B 1l A5 Ul otel
GUR ol oL

Proportional to the multiplication of

the charge

Proportional to the square of the

multiplication of the charge
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54.

uy.

55.

uy,

56.

us.

S7.

.

58.

uc.

59.

ue.

60.

A o oll JJRUSIR ell Rl

YyueL i

C. o olt ol oll IJRUSIR ol

R YHLBL Ml

B.

D.

A% oll AJRUSIR ol UHYUHIEL Hl

UL otl <ol ol YRUSIR ol

AHYHLEL HL

Two charges of 7 uC and -4 uC are kept in air at a distance of 0.1 m. Force acting

between the two is
A. 2 newton - attraction
C. 2 newton - repulsion

B.
D.

25.1 newton - attraction
25.1 newton - repulsion

7uC Aol -4 uCall A A% A scll Hi 0.1 m AR AVA B ll vl AR of vl

sed uql.
A 2 oeat - sl
C. 2 Jeat — uwsrial

B.
D.

25.1 ool - syl
25.1 ojeot — wusyal

When an uncharged body is brought near the charged body, the uncharged body gets

A. Attracted
C. Repelled

B.
D.

Charged
No effect

w3 WAALSS GSL A U USL WA Al HL BUA R, WalULS ollS)

A asd aa

C. auwsd aa

Volt =
A. Joule/coulomb
C. Coulomb/joule

dlce =

A. .
¥ / SE

C. sdu / yet

B.
D.

A% Al
Sl AU ol UL

Joule X coulomb
None of the above

A X Ao
GuRell Hil As WL otel

Dielectric strength of which material is maximum.

A. Air
C. Transformer oil

olAotl HiYl s HRRaA ol smaa@s
B.

D.

A sl

C. aleudlilz A
Property of

A.  Capacitor

C. Resistor

AL A9Ye sl oll oJRLuH
A FRkeR

C. 2
Capacitance C =

A. QxV

C. Q/V

AR C =

A. QxV

C. Q/V

1pF=

is to store charge.

B.

D

Bakelite
Glass

ol A auR B.
asclese
ALY

Inductor
Semi conductor

552
A $s522

VI/IQ
None of the above

V/Q
GUR oll Higll As ueL A&l
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SO.

61.

Sq.

62.

SR.

63.

G3.

64.

S¥.

65.

SU.

66.

SS.

67.

SO.

A. 10°F B. 10YF
C. 10°F D. 10%F
1pF=

A. 10°F B. 10Y%F
C. 10°F D. 10%2F

For capacitors in parallel which one of the following is true.
A. Ceq =C1 XC, Ceq =Cit C;
C. Ceq = Cl/ C2 Ceq = 1/C1 + 1/C2

FURERR ol UMIAR Astal H2 (Aot Hiedl 53 (Aot WY B.

O w

A. Ceq = Cl X C2 B. Ceq = C1+ C2

C. Ceq = Cl/ C2 D. Ceq = 1/C1 + 1/C2
Energy stored in capacitor is

A, CV? B. 1% C?v2

C. %CV? D. C?Vv?

AR Ui 3ecll Aatefl ol L.

A. CV? B. 1% C?V?

C. %CV? D. C2/?

For capacitor the time during which the charging current decreases form I to

called the time constant.

A.  .368 In B. 1lm

C. 2lIm D. 368In

3URIZR M2 sall HadU0L £2Uet, AR 522 Iy el ©ll A a2

Aal 28U SloReoe sECll.

A. 368 Iy B. 1ln

C. 2lIm D. 368In

Whenever flux linked with the circuit changes

A.  Power is induced B. EMFis induced

C. Currentis induced D. None of the above

222 UBe U [Aos U s HEAA B AR

A yaR Gadel Ul B, B. EMFGeudt aa .

C. g3z Gauol wla ®. D. Gureil wigl As uel ol

Fleming’s right hand rule is used for finding

A. Induced emf B. Force

C. Torque D.  None of the above

AL oll HQU sl oll [RauM g Nual M B,

A Geuot U EMF B. wa

C. s D Guzetl il As ugl o8l

For emf generation which of the following is required

A. Conductor B.  Relative motion between conductor
and field

C. Field D. All of the above

emf Gclol scll HI2 ol Aotl Hiell Aoll 232 B.

A aes B cues ual gles a2 et ol

C. s D GuR ol sl

For dynamically induced emf e =

A. Blvsin© B. BlvcosO

C. Blv/sin© D. sin©/Blv

stAAHIsAl Geuot Udl emf HIS e =

is
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68.

SC.

69.

Sc.

70.

90.

A. Blvsin© B. Blv cos©O

C. Blv/sin© D. sin©/Blv

Energy stored in magnetic field of a coil is

A. LI B. %L%P

C. %L D. L?P

515 ol Noadls $les Ml decll WetT ale A .

A. LPP B. % L%~

C. %L D. L?%P?

In rise and decay of current in an inductive circuit time constant A =

A. LxR B. L/R

C. R/L D.  None of the above
Sos(secl U2 Ul 522 oll IR Wal Yalst M2, 28U 5lRée A=
A. LxR B. L/R

C. RIL D Gurou 1igll As uaL A8l

A coil of 10 Q resistance and inductance of 1.5 H is used on 200 V d.c. supply. Time
constant of the circuit is

A. .15 second B. 15second

C. 6.67 second D. 1.5second

10 Q 2R A 1.5 H 8552 oll SISA 200 V d.c. Aclad AU B3 B.

A B2 ol elsH slkée 3ecl AL

A. .15 second B. 15 second
C. 6.67 second D. 1.5second

*hkkhkhkhkkhkhkhkikkiikkik
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